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Note :

ECONOMICS
PAPER - 11

This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

In which one of the following market situations are the firms mutually 1nterdependent in
pricing and output decisions ?

(1) Oligopoly (2) Monopsony { f

L

(3) Monopoly (4) Monopolistic Competition

r

2. “Value and Capital” is written by who among the fdll(;;‘:ving econontists ?
(1) Hanson (2)  Philipes (3) Ursula (4) J.R. Hicks
r'llI ! _.-'II
3.  Giffen paradox occurs when income effect i; : \ (l
(1) Greater than the substitution effect L V.
(2) Equal to the substitution effect™ { (
(3) Less than the subst1tut1on‘!ffsgt
(4) Negative and is greater k’hﬁn the substitution effect
4.  Which one of the foli?wing curves will respond the supply curve of labour ?
(1) Marginal produlct cutve of labour
(2) Marginﬂaléevenue product curve of labour
(3) Value of marginal product curve of labour
( (4) Average pr dul-'ct curve of labour
5.  Limit price referF to the :
(1)| Price which maximizes the profits of the firm
(2 ) \ Price which prevents entry of new firms
(3) : Price at which firm just starts earning a surplus over cost
(4) Maximum price which the firm is allowed to charge
vous | :
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6.  General Pareto Optimality exists where :

(I) MRTS X = MRTS N (2) MRTyxy = MRS A = MRS B

LK LK XY XY
L K MP P
(3) MRTS xy =MRTS_ (4) MP; = i
i
/

7.  Advertisement is common in which of the following markets ? ¢ { 3

(i) Oligopoly (ii) Perfect Competition

(iii) Monopolistic Competition (iv) Monopoly > ] * r

Choose from the codes below : oy N \ {

(1) (i) and (iii) (2) (i) and (iii) }5{ Onlg; I(1) (4) Only (iii)

r'Ilr ! ,-'II

8. Intellectual property rights regime is manag;zd by : \ .

(1) IMF (2) W.T.O. (3) Europgan*‘Union (4) SAARC

A f

9.  Which of the following staternieqrtfs are true for a Euro currency market ? Answer from the

codes below : I 4

(i) Its existence affects the effective conduct of monetary policy.

(ii) Itis a highly ré$ulated market.

Codes : . {

(1) - Both (i)*and (ii) are true (2)  Neither (i) nor (ii) is true

/ (3) Only (i) is fre (4) Only (ii) is true

10. According to Heckscher - ohlin theorem, a nation will export a commodity which is :

(1) Intensive in its relatively abundant factor

(Z)III' J Intensive in its relatively cheap factor

(3) " Both (1) and (2) are necessary

(4) Neither (1) nor (2) in necessary
vous | ‘
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11. Customs union always leads to :
(1) Trade diversion effect alone
(2) Trade creation effect alone
(3) Both trade creation and trade diversion effects
(4) Neither trade diversion nor trade creation effect
12. Which one of the following assumptions is the most important assumpfi(;n in the
Heckscher - ohlin theorem of international trade ? ; .rx )
(1) Two - factor model (2) Two commodities { r
(3) No tariff (4) Constant tariff
13. In dual gap model, the two gaps refer to : y { _
(1) Inflationary gap and investment gap | » !
(2) Saving gap and deflationary gap { |
(3) Savings constraint and foreign exchange cons'trair}f
(4) Investment gap and savings gap f ‘/
14. What is the value of the Gini Coeff1C1eg1t for an income .dlstrlbtitlon characterised by complete
equality incomes ? (
(1) Zero (2) 0,‘5? <4 (3) 1 (4) o (infinity)
15. Which of the following has not been identified as a potential consequence of global
warming ? . =
(1) Afallin agrlcultural fyields (2) The spread of disease
(3)  The use of nuclear energy (4) Arise in sea levels
"4
16./ Assertion (A) “d | One of the characteristics of many underdeveloped countries is that
f ' they have a low saving rate and low capital formulation.
Reason (R) : In underdeveloped countries this is mainly due to high level of
, consumption.
Codes : !
(1)‘\ Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) y Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (;\) is true but (R) is false
(4) (A)is false but (R) is true
vous | :
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11.

12.

13.

14.

15.

16.
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17.

18.

19.

20.

Concept of ‘surplus value’ is developed by who among the following economists ?

(1) J. Schumpeter (2) Karl Marx (3) J.R. Hicks (4) R.A. Fisher

Monetary policy is most effective when investment spending is :

(1) Interest elastic and demand for money is also interest elastic

(2) Interest inelastic and demand for money is also interest inelastic \ p
(3) Interest inelastic and demand for money is interest elastic / J 2
(4)

4) Interest elastic and the demand for money is interest inelastic

L
Slope of the LM Curve depends upon which of the fblfdwing ? \
-

(1) Interest elasticity of investment ,.' F |
(2) Interest elasticity of income / I _-"I
(3) Interest elasticity of demand for money \ (l
(4) None of the above e é
A (
</ '

In a closed economy and threé‘ sbctor model which of the following is true ?

Household savings equal net investment

i,

1)

(2)  Household savings equal gross investment

(3) Household savings plus depreciation equals gross investment plus government spending
4) Household savings plus taxes plus depreciation equals gross investment plus government

spending

21. According to Keynes, the marginal efficiency of capital is the expected :
(1) Rate of re’Jurn on financial assets
(2)II'k . Profit from real investment
(3) " Brofit from financial investment
(4) Rate of return on real investment
vous | 8
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22.

23.

24.

In the classical macro system, money determines :

(1) Employment (2) Real output
(3) Both (1) and (2) (4) Neither (1) nor (2)
Y
LM {
rate of interest
. Y4
r r
I, LM, ;
1
1'2 C : p- r
d !
D ‘
ry B / > |
|
/ , |
/ \ ./
XII.
0 Y, N | /
out put V.,
W (
« A ,
On the conventional IS - LM déaﬁratn, LM curve shifts to LM;. Then which of the following
statements are true ? _
(1)  Liquidity effect is ry1; (2) Liquidity effect is ry 1,
(3) Liquidity effectfis r, }{1 (4) None of the above

Consider the 'fo*l‘cr)wing statements about Phillips curve :

(i) There is invfarséf relationship between rate of inflation and rate of unemployment.
(ii) “Economic behaviour is a function of nominal returns.

(iiil)r. Economic Lehaviour is a function of real returns.

Oflithese statements which are true from the Monetarists point of view ?

(1) ~ All the above are true (2) Only (i) and (ii) are true
(3)  Only (ii) is true (4) Only (iii) is true
vouss |[{HVRCRA 1 Fapec
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25.

26.

27.

28.

An interest rate risk means :

(1)  When borrowers fail to fulfil the terms of the loan contract

(2) A rise in interest rate will mean a fall in the value of security in the secondary market
(3) A rise in interest rate will raise the value of financial security in the secondary market

(4) When unintended inflation arises o

{
lp' [
In the classical macro system money determines which of the following ?
(1) Output and Prices (2) Employment and Prices f
1 .
(3)  Output and Employment (4) Priees | J, !
f i

|'I |

When nominal GDP is ¥ 11,000 crores and real GD /ﬁ 10,000 crores, GDP deflator is :
1.11
f

(1) 9.09 (2) 90.91 £ (4) 110
hL
< J
Assertion (A) Incha hhsla blg potential demographic dividend.
Reason (R) : India’s population growth rate is declining.

i,

-

|
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
o

Codes : {

(2) (A)is Corrz but (R) is not correct

(3) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(4) = (R) is corr?ct but (A) is incorrect

|

|

29. Rece‘nt.ly the base year for calculating GDP in India has been changed to :
(1) 2009 -10 (2) 2011 -12 (3) 2014 -15 (4) 2004 - 05
v [[[HHIHRLANAN 2
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30.

31.

32.

33.

34.

Which of the following states has the largest share in the total food grains produced in
India ?

(1) Punjab (2) U.P (3) Haryana (4) M.P.

JAM trinity means :

(1) Jan - Dhan Account Money :

(2) Jan, Awas, Money ' r
(3) Jan - Dhan Yojana, Aadhar, Mobile Numbers f ( -
(4) Jyoti, Aadhar, Mobile

Who is the originator of “‘Buddhist Economics” ? = ™ \ {

(1) Lee Kuan Yew (2) P‘S'l’ai Larf‘{aI1

(3) E.F. Schumacher (4) r_"IShinzo Abe

Which of the following is not a credit rating agency ?"’jJ

Fd

-

(1) Moody L2 Standarl and Poor
(3) Fitch -« j (4) Nasdaq
Y4
Which of the following is not used to measure inflation ?
(1) Whole Sale Pri::{e Index Number (2) Consumer Price Index Number
(3)  Purchasing Power P:irity Prices (4) GDP Deflator

|

35. ¢ Which one of the following pairs is not correctly matched ?

(1) Similarly p\ﬁced persons should be taxed similarly - Horizontal equity

(2) __Interest payments are deducted from fiscal deficit - Primary deficit

(3) Goods which are divisible and principle of exclusion - Pure private goods

\ ' applies in full measure
4) . Tax on goods and services is levied according to item’s - State excise duties
value

v [[[HHIHRLANAN 1
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36.

37.

38.

39.

During the year 2012 - 13, which one of the following was the largest item of expenditure of
the central government ?

(1) Major subsidies (2) Defence expenditure

(3) Interest payment (4) Capital expenditure

14th Finance Commission recommended funds as :

(1) Central Assistance to States (CAS)

r [
(2) States Development Funds '
4
(3) States Share in Sales Taxes -;' » f
(4) States Contributions to Centre d > ;
A\

r'Ilr ' ."F
FRBM Act 2012 put a ceiling to fiscal deficit of GDTJ?S g |
(1) 6 percent (2) 5 percent 3) 4 ércen’& r (4) 3 percent

-

N (
Rostow distinguishes five diffir?lt‘!stages of economic growth which are :
(i)  Pre - conditions for take - off
(i) Drive to matur'i{y -
(i) Stage of high mass consumption

(iv) Traditiondl society

[ (v) Take - off |

Which one of the following is the correct sequence of stages of growth ?

@) (), @), (i), (iv), (v)
), . (ii), (i), (i), (i), (v)
(3) ™ (@), (i), (i), (i), (v)

@) (@v), (@), (v), (i), (i)

vous [[[HHHTHAVENNI 1
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36. @d 2012 -13 % IR fr=Afafed § @ F-91 T F TR & = 1 a9 o 78 o1 7
(1) TOE T (2) () = sEEEt (4) St =
37. icgd faa e A frefafed § @ fea w9 ° ffsi =1 fawme &1 of ?
(1) T & F=E geEd (feww) () s fowm ffy e
(3) foset ot § T Y feedem @) Fmw T w A [
38. TUH.RST.UA. Afafaam, 2012 ¥ Haat aﬁwﬁm@aw{ﬁ%wmﬁaﬁ%:
1) 6 wfwm@ 2) 5 wfwm@ _;{3) 4?&1?"13 4) 3 wfw@
\/
39. ﬁ@awﬁmﬁmﬁaﬁaﬁfwwﬁﬁaﬁﬁmﬂmmﬁ%
() s Een o £
(i) ‘T&Wﬁ\%ﬂ'{w--hi |
(i) ﬁ?ﬂ:ﬂ%ﬂﬂa‘?m{
(iv) ~HTFORATT HHTS
(v s m;n'*, |
\ i & -t P 35 et o 2
(1) = (i), (id), (ii )f( v), (V)
(2), (), (i), (i), (iv), (v)
(3)1{( v), (i), (ii), (iii), (v)
4) (@), (i), (v), (i), (i
vous [ NI L
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40. The saving function underlying Cambridge growth model is :

(1) Proportional saving function (2) Classical saving function
(3) Differential saving function (4) Absolute saving function
¢
41. According to Keynesions, creeping inflation will help in : . . J’/ )
(1) Minimising unemployment (2) Maximising real output f
(3) None of (1) or (2) above (4) Both (1) and (2) 'e}bove_; ‘I F
- \ (

AN
I|
42. In the famous equation M=P K Y, K stands fr(‘gr M I,IF

(1) Fraction of real output held for transaction ‘ Jj

£

-

(2)  Fraction of money supply held%y, persons f

{

-
(3)  Fraction of money Valuetof ofitput (transactions) held by public

(4) None of the above

'i

-

|

43. Geometric mgag of 2, 6 and x is equal to 6. What is the value of x ?

fa 2 "rf V(@ 18 @) 9 4) 3

44. Standard Error JSE) of a large sample of size n from a population whose variance is o2 is :

v

_ O . o _ 0'2 _
(1) SE= — (2) SE= = (3) SE= = (4) SE= =
pass [N !
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40. it fasm TEa #i WWifhd W AT T9d B © ¢

(1) SATIUIeh S=d el (2) FANHRT IId Fe

(3) fadeTns: a=d wer 4) A = e
41. HIHACH & FIHR, LT g3 GEEHITT FE™H BT . J i .

(1) SUSET &l ®H F H (2) ST IcAEA hl TGH H I'

(3) SudE (1) F¥er ) FAwE T (4)  SHEE (1) 3R (2)'*a=ﬁ 2

AN L

42. 9f9g g M=P K Y ¥ K fr=fafea 4 9 I}IJ;HOh fau i;:

(1) e % for forg e amafarss Sere i um ‘/ f

(2) =l gr foe T Hem SAgfd AT ' ’

</ '
(3) wmmmm_@ﬁ% 3 i T HT A
(4) wwF H @ FE
ﬁ :{
43. 2,6aﬁ1xmwﬁqﬂﬁamm 6 A T 1 x 1 HE 1§ ?
fay 2 ‘rf L@ 18 3) 9 4 3
.. mhfrwa: aw{%wa@;@ T 7 (S.E) v o o2 8, e ¥
{ 5 2

(1) 'SE=% ) SE=% 3) SEz% (4) SE=%

vouss NN 1 Paper
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45.

46.

47.

48.

What is the probability of throwing a total of 8 from a single throw of two dice ?

1 1 2 2 3 2 4 A
1) ® 3 6 @ 5
The estimated regression lines are given as follows : &
Y=10+0.4 X r' -
X=-4+16Y -4
Then the coefficient of correlation between X and Y is.« | (
' *

(1) 0.64 (2) 0.40 Y 10.20 | (4) 0.80

/ , |

I ‘ {4

For a distribution, Mean =26, Median =14, and Mode'=7, the/distribution would be :
" >~

e, a,ﬁ

(3) Symmetrical __h - (4) None of the above

%

(1) DPositively skewed (2) Negatively skewed

i,

-

For a normal distribution, consider the following statements :

(i) = It has tx'/v;dipoints of inflexion.
¥

(i) The distancg from the mean zero of these inflexion points is + o.

Answer from the codes below :

quldes :
v
(1) Bl_oth (i) and (ii) are true (2) Neither (i) nor (ii) are true
(3)  Only (i) is true (4) Only (ii) is true
vous | HHHNMINAN 2
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45. < UG % THAR Tk W 8 M I Fol iehal F1 € 2

1 2 5 3
M 3 2 3 G 3¢ @ 3
46. WEERf TRAT YETE FrEER @ {
Y=10+0.4 X I_' "(},'
X=—-44+16Y '
T, X R Y & o9 TEHw O R . 4 { ";
(1) 0.64 (2) 0.40 .!}33( Io.zo :. (4) 0.80
47. foeht 927 & fau, wea =26, Mitaw=14 dAR W=7¥;ﬁ[ e B
(1) &A% &9 9 fomm ; “2) Wmﬁﬁm
(3) @wfi@ __'h ? C o sewmE s
48, Wwwﬁa%’fﬁ%ﬁ@aaﬁmﬁww :
(i) zﬁ?ﬁr-tf;{oi&d % < forg B ¥
i) Eﬁwﬁ%ﬁﬁgﬁaﬁwmw@qﬁ + 0¥l
' e foT g e | S D
I
?ﬁ' :
(1) ‘fr(pafr{(ﬁ)aﬁ@%%% (2) (i) R (i) § T 1 T T
(3) e (i) W ® (4) hee (i) e ®
T ;
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49. Match the items in List - I and List - II and answer from the codes given below :

List - I List - II

(a) Simple random sampling (i) Non - probability sampling

(b) Systematic sampling (i) Random - choice of all items from each
stratum

() Quota sampling (iii) Random selection of first and systematic of
the rest  a

(d) Stratified random sampling (iv) Equal probability of each item in-all t?{al_s

Codes : f r

@@ () (o) (d) '

M 6 @) Gi) (iv) ; i

@ @) @) O @ T OV g

G) Gv) (@) @ ) // ”

@ @) @ G (@) / | |

50. Ifin a village all the farmers are divided into three categaories f‘i;larginal, small and large, and
then a sample of 20 farmers is takentandomly from dach category, this could be called :

(1) Systematic sampling -« I (2) Stratified sampling
. )
(3) Cluster sampling Y1 (4 Multi-stage sampling

i | -00o0-
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www.examrace.com



49. g - [T ol - [ &1 7S o1 GHfq ifsd a2 7o g3 Fel o TR TS S

Tt - 1 Tt - 11
(a) W gl gfdedl (i) ARl yfded
(b) HHIG Ffaaw (i) TIH TR F 9t TRl w1 Agfese fowmey
(c) el faes (iii) T 1 AGTSH AT 3R WY T HHAG w2 '
(d) WA agr==s faeel  (iv) T TH&0T § Y&s 7S H1 qHE ikl t /
Fe ( f
(@ () (o (d) !
® @ @) 3G (@G
) () (@Gv) @ () = (
G v @) 6 G A\’
4) @) @@ G (@) [

\ J/

50. i fareh it 3 woft ot vt ], - i, 9 O ot e fa o 8, o
mmaﬁﬁzomﬁﬁ&mfﬁ%ﬁmm@mw%ﬁs@mmm%:

(1) Hafeyd gid=r=a Vi . (2) i@ gfd=ree
(3) EE (RTER) G " (4) S Yid=aA
{ { -00o0-
‘4
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Space For Rough Work
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